7/31/23,12:13 PM

ZOOM FOR
DETAILS

CORE HEALTH & FITNESS

i StairMaster 5 scrHwinn

NAUTILUS

GO sTaRTRAC

THROWDOWN

2019_Capacitive-Touch_Embedded_151.svg

# PartNo. Qty Description

1 | 020-7440-XX | 1 BRACKET, MAG RACK

2 | 020-7885 1 LOUVER, FAN, DISPLAY
14 | GEEEERNA8 2 NUT, M3, HEXAGON, ISC
5 | GEEEESA3 1 Plastic, 15in Display, COV
3 | 020-7932 1 PLASTIC, CAVITY, RFID,
21 | GEEEES0 8 SCREW, #8-18, 0.625in, t
17 | GEEESAQ2 10 | SCREW, #8-18, 3/4", HI-L
20 | 110-4084 2 SCREW, M3.5 X 1.29, 6m
16 | 110-3229 2 Screw, M3x0.5, 10mm, Pt
25 | GEEEEBO7 8 WASHER, M4, 4.3mm |.D

700-0468: Other External Parts

file://webv7/TechnicalBank/Stairmaster/Consoles/2019_Capacitive-Touch_Embedded_15/2019_Capacitive-Touch_Embedded_151.svg 11


https://www.gympart.com/itemdesc.aspx?ic=ST20480&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1014&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB110-3402&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST20277&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11328&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

7/31/23, 12:14 PM 2019_Capacitive-Touch_Embedded_152.svg

ZOOM FOR Part No. Description

DETAILS [k

It : G ML 1 | GEEEE264 1 MOUNT, HPJ, HOT BAR, 0X
3 | GEEEER98 1 CAP, HEADPHONE INSERT, H
11 | GEEERB52 1 STICKER, DISPLAY, USB-HDM
12 | GEEEEST8 1 STICKER, DISPLAY, USB-HEA
21 [ 110-3629 4 SCREW, #8-18, 3/4", HI-LOW, |
35 [ 701-0198-XX | 1 ASSY, USB-HDMI PANEL, EMI
39 | GEEERT8 1 @ABEE, HDMI M-M, 18"
46 | 701-0402-XX | 1 ASSY, USB-HDMI PANEL, 201
@EBE5609 1 ASSY, HEADPHONE BRIDGE,

Pencsen
A\ v Em =

e e

~ ™ sy,

" ey o iy ey e ez

™ =X o
" ey g vy

g
O iy e BT ek § g

w [
25 iy o e 12 e Mt ey gy - et
TRt gy e o FeTn sk vy, i L o eyt pad S B Naten,
Y oy T o gy T S e v st S P
b Tl il " o 0 ot Sy i, b

,,_.*_‘ Morruss
o il
[S\ig o e oy e e e
[ . -
Pt Conag i g i

cgt:rE-M':sEteArLTﬁHs&cz::less NAUTILUS (D STARTRAC THROWDOWN 70 0 -0468 : F ro nt Pa n e I 0 pti o n s

file://webv7/TechnicalBank/Stairmaster/Consoles/2019_Capacitive-Touch_Embedded_15/2019_Capacitive-Touch_Embedded_152.svg 11


https://www.gympart.com/itemdesc.aspx?ic=ST10532&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST20265&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10953&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST20197&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST20211&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10579&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

7/31/23,12:14 PM

ZOOM FOR
DETAILS

CORE HEALTH & FITNESS

i StairMaster 5 scrHwinn

support.corehandf.com/Brands/Stairmaster/Drawings/700-0468-XX Rev C.18 - Plastics.svg

@) ‘

Part No. Qty Description
6 ] 020-7944-XX | 1 PLASTIC, 15 INCH DISF
9 |050-2378 1 STICKER, DISPLAY, US|
10 | 050-5605 1 KEYPAD, START/STOP,
12 | 050-5609 1 LABEL, WARNING, 15in
13 | 050-5610 1 LABEL, APPLE NFC, 15i
17 | GEEERA02 10 | SCREW, #8-18, 3/4", HI-|
18 | 110-3629 2 SCREW, #8-18, 3/4", HI-
23 | 110-4196 1 SCREW, M3.5, 13mm, F
28 | 240-6918 2 CONNECTOR, 8-PIN, 9C
32 | 701-0257 1 @EBUE, CSAFE, EMBEL
36 | 701-0336 1 ASSY, 15in, TOUCH SC,
42 | 701-0402-XX | 1 ASSY, USB-HDMI PANE
45 | 715-4275 1 ASSY, FAN ASSEMBLY,
47| 715-4306-XX | 1 ASSY, DISPLAY BACK,
50 | 731=0225 4 SCREW,M3.5 X 9.5,SEL

NAUTILUS (D STARTRAC THROWDOWN

https://support.corehandf.com/Brands/Stairmaster/Drawings/700-0468-XX Rev C.18 - Plastics.svg

SISANRSIRRI NSNS

=

S DN

SS
>

S

<

700-0468: Plastics, Labels, Fan

7


https://www.gympart.com/itemdesc.aspx?ic=ST20197&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11227&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB110-3402&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10698&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

7/31/23,12:15 PM

ZOOM FOR
DETAILS

2 _]Y

support.corehandf.com/Brands/Stairmaster/Drawings/700-0468-XX Rev C.18 - Wiring.svg

# PartNo. Qty Description
40 27 | 220-0308 | 1 ASSY, @EBEE, GROUNDING,
33 1701-0267 | 2 @EBIE, USB IBS1UTO FP, G
34 1701-0277 | 1 ASSY, @BBIE, WIRELESS HF
35 | GEEEESBY | 1 @EBLE, WAHOO TO EMBEDL
38 | 701-0371 | 1 @EBUE, IPTV, CORE IMX6, PI
39 | 701-0372 | 2 @EBEE, HDMI M-M, 12in, 36A)
= /\ 40 | 701-0374 | 1 @EBIE, IMX TO DISPLAY BO,
@SE3082 | 1 COAXIAL @EBEE, GEN 3 EME

/’/44

CORE HEALTH & FITNESS

i StairMaster 5 scrHwinn

NAUTILUS (D STARTRAC: THROWDOWN

700-0468: Wiring

https://support.corehandf.com/Brands/Stairmaster/Drawings/700-0468-XX Rev C.18 - Wiring.svg

7


https://www.gympart.com/itemdesc.aspx?ic=ST12581&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10766&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

7/31/23, 12:15 PM support.corehandf.com/Brands/Stairmaster/Drawings/700-0468-XX Rev C.18 - Internal.svg

Q ZOOM FOR # Part No. Qty Description
DETAILS 4 | 020-7934 1 PLASTIC, USB C
15 | GEEESNG3 4 SCREW,M3x0.5,
17 | GEEESHE02 10 | SCREW, #8-18, &
21 | GEEEG90 8 SCREW, #8-18, (
22 | 110-4097 45 | SCREW, M3, 6m
25 | GEEEEBO7 8 WASHER, M4, 4.
29 | GEEEEEEGEC15 | 1 PCB, BRAIN BO/
A 31 | s 1 PCBA, SALUTRC
51 | 701-0355 1 COVER, TUNER
41 ] 701-0399 1 ASSY, WAHOO E
S 43 | GEESSeA 1| ASSY, WIRELES
46 | GEEEER96 1 TUNER, GEN 4, ,
1 ASSY, USB BOA

N
e}

) L A— | —|— | A Y
\
- . 7
22 =3 \

3

S 1

~
i~

\

=N
~

CORE HEALTH & FITNESS

% StairMaster () scHwiNN NAUTILUS (D STARTRAC THROWDOWN

https://support.corehandf.com/Brands/Stairmaster/Drawings/700-0468-XX Rev C.18 - Internal.svg 11


https://www.gympart.com/itemdesc.aspx?ic=ST12434&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB110-3402&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST20277&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11328&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1797&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11083&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1294&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST20440&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10902&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

	2019_Capacitive-Touch_Embedded_151
	2019_Capacitive-Touch_Embedded_152
	2019_Capacitive-Touch_Embedded_153
	2019_Capacitive-Touch_Embedded_154
	2019_Capacitive-Touch_Embedded_155

